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· 1. 
As a raindrop falls it readily absorbs soluble gases which increase in concentration inside the drop. 

· Calculate the concentration of aqueous sulphur dioxide in a raindrop that is in a parcel of air containing a gas-phase concentration of SO2 of 3 ppm.  The Henry's Law constant for SO2 is 1.470 mol dm-3 atm-1.

· Explain how apparent aqueous SO2 concentrations higher than those predicted by Henry's Law may be obtained.

2. 
Explain the term Base Neutralising Capacity.  How does this parameter differ from the 
 
pOH of a water sample? 

3.  Explain the chemical basis for the BOD test and the similarities and differences to 
   the COD test.

4.  Calculate the ionic strength of a water containing 2mg / L NaCl, 20 mg / L CaHCO3, and 
   5 mg / L MgSO4.

· 5.
 Describe the major chemical processes which result in the formation of a "London" smog, 
 
include the key compounds and the physical conditions required for such a smog to form. 

· What measures have been put in place in Europe to reduce the possibility of "London" type smogs?

· What measurements would you expect to carry out to declare a smog event?
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